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FRREE 0.33 8 4 22 4 0.13
BXER 0.3 16 6 21 4 0.09
TRRES 0.3 16 9 12 7 0.16
BIRXES 0.38 5 13 2 7 0.16
RBERES 0.33 8 11 5 9 0.2
)| X EBR 0.3 16 8 12 7 0.18
XRXER 0.26 22 5 20 7 0.21
AHRXES 0.32 12 12 5 9 0.18
PHEXER 0.31 13 9 11 7 0.17
EERESR 0.39 4 8 9 6 0.17
BXES 0.33 8 11 3 5 0.13
BERXES 0.36 5 12 . 5 6 0.12
IRNIRES 0.3 16 13 B 5 0.11
NERXES 0.29 21 9 5 5 0.13
BERXER 0.36 6 6 17 5 0.14
HARER 0.29 20 6 16 6 0.18
tRZES 0.33 8 10 4 9 023
FREXES 0.4 3 2 23 3 0.12
HHARES 0.31 13 10 12 5 0.1
=HRXER 0.41 7 9 5 0.16
BitRES 025] 23] 8 17 6 0.13
mIRER 0.41 6 15 6 0.19
BREER 0.31 13 5 17 4 0.13




